Answer on Question #56236 - Chemistry - General chemistry

Question:

Will a reaction or no reaction occur with these equations? will a precipitate occur?
CuSO4 + 2 HNO3 — Cu(NO3)2 + H2SO4
CuClz2 + 2 HNO3 — Cu(NOs)2 + 2 HCI
CuCOs + 2 HNO3 — Cu(NO3)2 + CO2 + H20
CuBr2 + 2 HNOs — Cu(NOs)2 + 2 HBr
CuSO4 + Ba(NO3),—Cu(NO3)z + BaSO4
CuCl; + Ba(NO3z)2 — Cu(NO3), + BaCl;
CuCOs + Ba(NOz)2 — Cu(NOs)2 + BaCO3
CuBr2 + Ba(NOs3)2 — Cu(NO3). + BaBr2
Solution:
CuSO4 + 2 HNO3 — Cu(NO3)2 + H2SO4 - no reaction
CuClz + 2 HNO3z — Cu(NO3)2 + 2 HCI - no reaction
CuCO3 + 2 HNO3 — Cu(NOs)2 + CO21 + H20 - reaction occur (gas formed)
CuBrz + 2 HNO3z — Cu(NOz3)2 + 2 HBr - no reaction
CuSOs4 + Ba(NO3)>—Cu(NO3)2 + BaSO4/| - reaction occur (precipitate formed)
CuCl; + Ba(NO3)2 — Cu(NOgz)2 + BaCl> - no reaction
CuCOs + Ba(NO3)2, — Cu(NO3)2 + BaCO3z| - reaction occur (precipitate formed)

CuBrz + Ba(NO3)2 — Cu(NO3)2 + BaBr, - no reaction
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